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( D )1.Dis a interior point of equilateral triangle ABC, and
DB=DA, P is a point outside this triangle, and BP=BA4,
/DBP = /DBC, then #ZBPD="? D
(A)15° (B)20° (C)25° (D)30° 3 c
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# 42 CD » AADC 4= ABDC

®AD=BD @CD=CD ® AC =BC
AADC = ABDC (SSS)® ZACD = /BCD = 30°
ABDP fvABDC

®BD=BD @ /PBD=.,/CBD ®BP=BC
ABDP = ABDC (SAS)®> ZBPD = /DCB =30°
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I8 He=(82-5)=7+1=12
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( B )3 HA=(-DOr+2’-4(x-D(x+2) , T 5|vm— XA § A hF] N9
(A) x(x=1) (B) Gx+Dx+2) (C) (x=D(x+2) (D) (x+2)(x—-4)
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A=x-1D(x+2) -4(x-1)>(x+2)

_(x=D(x+2)[(x+2)" —4(x-1)"]

(=D +2)[(x+2-2x +2)(x + 2+ 2x = 2)] = (x = )(x + 2)(—x + 4)(3x)

SR GBxAl)(x+2) 7 A hFdc £ B
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(A)5:5:1:1 (B)2:5:5:2 (O)1:5:1:5 (D)5:2:5:2
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4e§) » BE 2% ABCD ¢ » £ BE=1 ¥ AB=8+4=2

BE:AB=1:27% /AEB=90°= /A =30°

s & bR B=30°:150°:30°:150°=1:5:1:5 » :% C o
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ProR o0 & ITPC=54Ccm® AB=10cm°® ZPCA =30° * E'JFW"? |8 E’% 7 <
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B 3= @b +(a=of + (b -cP)= 11 +1+4]=3
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(A )7.As show in the figure, the side length of square ABCD is 4, point E,F lie
on side AB and AD. If @—2f then < ECF=45°"what is the length of CF?
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(A) (B) (C) > (D) ™2 7 i
<fE47> i
BE=2 > AE=2 ’» 3k DF=x
CF=+16+x> * AF =4—x
EF=DF +BE=2+x A E B
EF=4(@d-x)’+4 > x:%
&f{_
(B)8= \\/a(x a)+\/a(y a) = Jx—a- \/ay 3&#@]]\:},«— » H @ oaxy
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=0’ x=-y > }%"\‘——g
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KALZRE S FHhE xfho Hdhi y i y
B B 2k 4£(52,28)

Bk y=ax+b > 1~ (0,0) (52,28)
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3x+y <100
x+y<60
x20
y>0
t=4x+3y
firbhe_ =200

G
B
A BT ST AB S B AT - 3%
» @k L 3 XA DE S s P8 GA=GB=25 » DF=15 >
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i B it BH LGF >+ H

BH =EF=24 » GH =+/25"-24* =7
WA T LGFT ~ J

AAGI » GI =+/25* —15% =20
HI=BJ=20-7=13

Wi AB » AABI 7 0 AB=+13+9* =4/250 =510
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4.Use five sticks of 4cm, Scm, 6cm, 7cm and 8cm to form a triangle, where any
side can be connected with two or more sticks but no stick should be broken into
two smaller sticks. What is the largest possible area of triangle can be formed?
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a+10b=32cx10

{a+16b:26cx16

JoE 51631

= ;LET%E(IO 110 & > X 20 %) MKA BT S L

1. 2BATFEME- I3 P 7 2% > 35 884 v o T2 £ 200 ¢ %4
g-H4e A\Bﬁmjéaﬁ?@aﬁ 53:[“5 H ¢ A@]gﬁiﬁﬁhﬁi’ 16 A fr 45 &

= 320c—-10b6=416¢c—-16b , 66 =96¢ , b=16¢

7% % pAek 7000 % ;BA# F 4P E 25 A 35 FE > F g
8000 ~ -
OEEXRE L LERE
QURfEiEd > XE g RN PFREEE F 0 AD
<fE47>

(1)B3k Aﬁ']j{‘f%?'ﬁ xim B ﬁ']_‘f?rgﬁwj'ﬁ 5-x i@
16x+25(5—x) <88 x<4.1
{45x +35(5—-x)>200 {x >2.5
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)% A2l 34 B2 24

. 7000x3+8000x2 =21000+16000=37000

% A32 44 -BAl2 14w

".7000x4 +8000x1=28000+8000=36000 (# i &)

2= %8 k- F 36000x3=108000 ~

» 25<x<4.1 > x=3x=4(x 5 I EiKk)
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